Chapter 2 Review

CHEM 1301
Basic Skills:
1 Go back ar writing a number in long form and scientifi¢ notation
o Con bers below into scientific notation
l. 2,365.005 Al 6. 7,680,000 1.uh*10"
2. 00000647 | o & 7. 7.400.1 7. Hool x10°
3. 265,000,0000 | 2 8. 0.00000000098 | A,gx(0"'°
4, 23.1 | ' 9. 0.15 1.5 %10
5. 00985 =3 10. 698,563 (. 93503%10 ®
o Convertt below from scientific notation back to decimal form:
1. 5.786x10° 6. 7.43x107 0-0O743
2. 2.09x10° | ( 7. 1.23x10' ¥
3. 7.809x10°® 0000007309 | 8. 3.45x10* 0,000 34
4. 1.99x10% 1199 9. 6.02x10% (gozoowooo-oooooooggooc:
kS N '
5. 2.34x10" |0, 000 000 000 234 10, 3.0x10* 300p 0op00O j
[0 Multiply/Divide powers ;l‘ 10 (without a calculator) (02 and 2\ zeros

o Solve the following expressions (leave answer as 10")

10% 34 -2, 22
b om 0 - 10
2, 10°x 1077 x 10° | 0(6 qw) 2
10%3x10® 2344 - "-3) »
% 105 l 0 ( l O
4. {106)2 \.Db‘z 5 lolz
5. 1012 x 1072 % (109)-—2 ([2_+'Z + (9 ’Z)) -9

= 1D




T underlings
O Count the number of sig figs in a reported number e STiQ‘Rog;!
oS N
o How many sig figs do the following numbers have? &
1. 0.0000343 3 6. 7.043x10” “
| 2. 23000856 o 7. 24 atoms 00 (esack ¥)
| 3. 29000 & it 8. 2.900. 4
| 4. 0.002300 H 9. 290050 S
|5 000500200 o 10.900.02 =

[0 Estimate a number to a given number of sig figs s O 5 NOT Sig .

o Round each of the following to 4 sig figs (some you will have to write in
Scientific Notation):

1. 0.00023097 [D.0002310 Z.Sloxao'“ 6. 7.0098x10? 7.01040" % D.0W10
2. 230856 | 230900 or 2.309%0° | 7. 59009 590\ or 5A0ix0>
3. 29000 2.900 *ip 8. 2900670 |2.90\ ¥
4. 0.1002300 |0.{002 o \.002%0”" 9, 290000 7.900%10°
P 3
5. 0.00500200 [D.0v5002 o Di00ZKID 10. 9000.02 Q.000 X110
[0 Do math with correct sig figs
o Evaluate the following:
|, 203,650 +23.0569 — 145.08= | ohb351 = 164
2. 0.0023 + 60.05 = 0. 1330S = 0,14
Z.011%
3. (236.098 — 234.0267) x 100.5 = | 20%.\wb = 209.2
2.2 343
4. ST06 < 23 + 55.68 = 57,9435 : ©71.9
5. 29.06 + 45.98 = D.L32a4 = 0.L320




Multistep Conversions:

1. Convert 14 centuries to days:

lcm{vr.a = {00 (zLﬂ/.S | A cenfuries ’Jbo'ngS \(5@664 o
\ ﬁeqﬁ 365 ch-ns |C¢”“Wj \3f ‘
2. Convert 9wk to hr:
L week® Tdays  Fuik (7c\ans )( 2t e ) .
\day? 24 he \ wke | day
3. Convert 14gal to cups:
\opal = Hg eyl qu—\r__> [2 P'B )(Zc_ugs) )
¥ ],nb -
L gl ) gt Ot

4, Convert 6cm to ft: | \Q,‘,
V\in*2.54em (e (__‘/n—— é—-————)~
120> | f+ 2 M 12 n

5. Convert 15pt to floz:
\pt:2eups 15 p¥ (26“125>(‘B?’ OZ_> ,
lewp > S Floz ‘i"* \CqP

6.

Convert 5m to in: _
TSRS om aY.

e L o km (__l_m; ) ( 52304+ )

8. Convert 3wk to min:
\wks Tday 3WV~<_7;'L:‘:32_ (Z% hr ) {(o&m‘/«
\&3:\/&("{&;"\;«\ Ik I day Lo

9. C rt 9km to in: .
otk S} mlesgzzort kM @L}@)
(L4=125n - oTkm) | 1£4

10. Convert 6gal to pt:
Gyl g bl (’\Eﬁb> :
351




Metric Prefix Conversions:

1. 43x10%mm=

\ \ym - \O-ﬂm

m
H.3%10°" p (\o"'

Wm

) = 4. 3% )7

E g

2. 85x10°kg=
\ka= 10%
0"V $5w0 k{( 3 3.6%/0"
3. 100.0cm= Hm
Ve 1075, \QOI.(:’.)c_m 15" %m )(E__w_\_. = IOZ-Z-_“’
\ sm 107 %, Ve Joren
g = 10%um
4, 238.02ps= ns
=107 '? ) -1z
| es S 2330293 /o s‘><)ns )zo.zsm hs
\nﬁ‘ lo—q ) \FD
5. 6853 Mg= kg
| Mg= 10 ©9 L,,%GBMS(JO“":) ) l%_) i (,,gssxioskj
ko> 103 My /4107
9 9
6. 3.0x10"mL= dL
PASS N 3.0%10" L (103L B( LN 13 ou'®
a1 w2 e L




Conversions:

[l Convert betw: efixes (without Table 2.2)
1. 2.4 x10" om m
nm =2 qp_ uUx0' 9»4»(‘_0___..—-- - 2. ‘q"‘ogm
CF lnm \ gt

2. 24x10%kg=
Kg—'?Cj
O
ckE Vs 2.4x10 )15(,,\_,3—-) 2.4q
3. 24x107%s =
—>
\as = 10775 o ex )"‘ 2.4%0 s
4. 2400000 ps= ns
PS—5—>wns 2400000p= 2.4%10%s
: =\~ '= J
Ll Z.kald".PS'( o ( | s )_
lass 107 P 0% /-
| 3
5. 0.000000024Mmol = kmol 24107 ns
Mol = ol = kimo 0.060 0006 024 Mol = Z.L\XIOAMW\

CF: Vet = 10%ml 2 ] 0 |
| keral = 103 el \M/(IO"M\ -

2.4%10" Kimdl
or 24 kyrol



- Convert volume or area units (units raised to a power)

.1 346cm’= m 5 CF lem®s 107902
3 3
B TRy
g v (\.cﬂ‘xggﬁ m)
.
f 2. 983.5mm’= em’
| mm"—) mE =, AN, 6,,«4{( 10" %o o H/)

as (lmn)(o' M)z$ R LQ

(em): (@) 2 lem®= 107 2 413541077 o m?
R: 9.935 cm '
3. 132L= dm® (don’t forget: 1em>=1mL) '

L—=mlL—em>- ? m >dim3
CF lmL> 10 "3l 13,22 [\ ) __\M) 07 ( \ dm3
o ( 2= (\o«t- (i;ﬂﬁ 10 30
lem3= lO_‘" . (~(o4343)
3 o - 132%10——= A 3. 24 m
1dm3: 1077 =0
0 Convert from one unit to another (English + Metric) in single and multi-step

conversions
1. 1043in= ft
in — B4 \0.4 334 ( L & > - QLA 1GTE
CF: 12in = | RX \Z58 spnnii=St
- 056228
2. 65.32gal= L
ga\— L u%.SZM(S\;]:ﬁ?L SR 5 7472501
| gl <3, 785L
3. 1.000 miles = cm
mites ™ Kkm > m 7 cm 3 \
CF: il LG0Tk 1ooom<\1>(\/u&‘lké) ( ;o% (’\Oc“”n%%\
Lk = 10°m e

5
3+ - Ax|0erm
\CH E 'D'em - LLoAr\ 86 ™ w



[0 Calculate d

1. A piece of metal

density.
= 454894 Ym3 -*—Fﬂsbﬁ c%mj
2. A I.SLsampch quid has a mass of 2.98x103g._ What is the density of the liquid in
g/L and g/em?®? o Given” m-‘Z."ﬁ“lOss
® Calcnlate D 3 V1%L
@ Cenvers V 4o C—m53 Haun axlcul.d(, D
w2 mL em® _m . 2.98 407
|mL- Toid = L=V \.GX'03¢;m3
l{.m = ‘ML- 3/ 3
\6):( )(J_e.m.i) D= 1.9% m
o2 )\t F 2.0 %%m3|
= |.6x%103 m? -0 e |

00 Use density as a conversion factor

1. What is the volume in mL of 345.8g of a lig.ud with a density of 1.15 g/mL?
CGiven® = 3423

"Bs \.|5‘3
Nedt Vi ml .’346.%(JmL ) 23565
= (Som|
ciy BV L V5o
D= 115 %/mL tfaoo."mL
\.\633- Ve L
2. What is the mass of 20 L of ethanol given that the density of ethanol is 0.789g/cm>?
Given: 20L-
Need: mass
L= mL"em> — A
CF! \mL= DL Zch M);
VL= tons3 2Lk (’0—3:2‘3‘( losT >< | g "
: cnnica
O.-nol %‘- \CM3 - 11.67?’(10”8 ‘f‘;ﬂh‘j Of}‘ \3\?2\62-0
T



